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1. A rope is stretched from the top of a pole of height a to the ground at variable distance / from the . LQ'- L
pole, and back up to another pole of height b that is distance d away from the first pole. Show that WA& I Q M
the minimum amount of rope needed occurs when angle z equals angle y.
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. Linear o,mu/\ﬂiv\/\cc/w‘t: \,.(K) = ™M (X—@ -\-é(@.}

2. Construct the linear approximant passing through the point (e,0) of y(x) defined implicitly by A = e ! ! (a) = % Ke) ;O
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3 . 3. Determine the limit Q' = XLA X_\_\ b = \i \/\L’%

L= lim (VaT+z+l- »ﬁ) N - WM %

o Ly 2K +\
L= Oim CE TR aEnARES Ot =D
AHN 3 F-»Q -+l % 380 :s Ytays\ + m

o b= »LL.L X+| — (KL—xv—; 244\

o 2 L2t %) -
i % )/Y\X\ﬁ—k*:;“'"ml

e¥—y*—Inz=0.

Screen clipping taken: 11/17/2022 8:48 AM

Test3Solution Page 1



P X LNY R TR U X

Screen clipping taken: 11/17/2022 8:48 AM
L Zy
! & =L o=¢€
4. Evaluate the integral YR i L \
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5. Evaluate the integral
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